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gie - New market for LNG:
O Natural gas as transport fuel

Used in passenger cars, light duty vehicles, busses Heavy duty vehicles, vessels and
up to heavy duty in medium range applications maritime applications

Source NGVA

e Switching to natural gas will deliver not just CO2
emissions reductions but also significant air quality benefits
for citizens, with lower NOx emissions, low&Oxand few
particulates
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gief »  Fuel consumption of different vehicles

Consumption of CNG/LNG

Equivalences

MWh/year
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gier "':; Send out of EU LNG terminals

¥

EU LNG regasified volumes (Jan 2012 - Mar 2016)
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i Utilization of EU LNGerminals
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A Total send out capacity of large
scale LNG terminal§91bcm
NG/year

A Inaverage jusiL9%of total daily
LNG sendbut usedin 2015

ALSI: LNG send out (mdiG/day)
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ALSI: LNG inventory (36m LNG)

Total available: 7769
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A EuropearLNG storageapacity
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Low utilization ratios

The following graph, based on data from GIIGNL, shows the evolution of
the EU LNG average utilisation factor from 2005 @ftil5,as well as the
LNG import volume evolution over thperiod:
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gie e The case of SE Europe (1/3)

REVITHOUSSA LNG TERMINAL

CAPACITOF REVITHOUSSA L
TERMINAL

SMSR*cmawith
LF=1)
Present 4.5
After 2nd 7.0

expansion

*Sustained maximum send out rate

Available capacity for transit from beg. 20&bcma(LF=]
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Revithouss@erminal
could cover ~50% of
the imports of the
Balkan market,
provided that there Is
respective available
transmission capacity
and competitive LNG
prices

The case of SE Europe (2/3)

NATURAL GAS MARKET IN SEE excl. Italy & Greece (bcmlyi
Data from ENTSOG's System Development Map 2014

Demand Production Imports
Bulgaria 2,47 0,16 2,31
Romania 9,94 9,44 0,51
FYROM 0,11 0,11
Serbia/
Montenegro/ 2,00 0,47 1,53
Kosovo
Albania
Bosnla(Herge 0.13 0.13
govina
Croatia 1,83 1,15 0,68
Slovenia 0,72 0,72
Hungary 7,61 2,18 5,43
TOTAL
BALKANS 24,81 13,40 11,41
NOTES:

1. Romania has a plan to become net exporter by 2025 (to be confirmed)
Otherwise, they will need to increase their imports
2. A slow increase of consumption is expected in the region for the future



gie“ ¥ The case of SE Europe (3/3): Routes for
e exporting LNG fronRevithoussa
REVITHOUSS/SIDIROKASTRO REVITHOUSSAI'AP— I;GB

The provisionof sufficientinterconnectioncapacitybetween adjacentgas
networks open to TPA,is of utmost importancefor the integration of EU

market and simultaneouslyincreaseof the utilization rate of existing or
new LNGterminals
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gle LNGterminals vs pipelines

w Investments in gas infrastructure should primarily be
marketbased where are not fully supportedby the market
might still be neededdue to externalities(e.g. security of
supply),in suchcasethesemightrequiretargetedsupport

w The (impacton/utilisation of) existinginfrastructureshould
be takeninto account

w The cost benefit analysis(CBA)for additional investments
shouldbe positive
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